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QUESTION 1

A storeroom manager is trying to determine what transactions have been completed for a given storeroom using the
Inventory Usage application. What types of transactions can the storeroom manager see using this application?
(Choose two.) 

A. items issued 

B. items deleted 

C. items created 

D. items transferred 

E. item status changes 

Correct Answer: AE 

 

QUESTION 2

Maintenance is required on an asset at every 6,000 miles that uses job plan JP6K, and there is an additional Job Plan,
JP18K, that is used at every 18,000 miles. This Meter-Based Frequency PM has a frequency of 6,000 miles. 

What are the correct sequence values to use on the Job Plan Sequence tab? 

A. JP6K = 1 JP18K = 2 

B. JP6K = 1 JP18K = 3 

C. JP6K = 0 JP18K = 3 

D. JP6K = 6 JP18K = 18 

Correct Answer: B 

 

QUESTION 3

The user wants to have a new job plan reference an existing job plan so that the data in the existing job plan will be
available without re-entering it. 

What is the name of this feature? 

A. Nested job plans 

B. Job plan revisions 

C. Job plan sequences 

D. Attachment job plans 

Correct Answer: B 
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QUESTION 4

A user is searching for a classification to add to a record in Work Order Tracking and is unable to find the known
existing classification. What could cause this? 

A. Work Order record is in WAPPR status 

B. User does not see the Classifications application 

C. WORKORDER is not a Use With object for that classification 

D. The classification is not associated with the work order\\'s location 

Correct Answer: D 

 

QUESTION 5

A supervisor has a requirement to record daily attendance of the labor or crew performing work. Which applications can
be used to record this information? (Choose two.) 

A. Labor 

B. Crews 

C. Person Groups 

D. Labor Reporting 

E. Work Order Tracking 

Correct Answer: BD 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSMAZG_7.5.1/com.ibm.mms.doc/pdfs/
pdf_mwm_user.pdf (p.23) 
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